% @><© % Multiplique por poténcias de dez (ntimero ausente)
Nome: Encontro: Data: Pontuacio:
6,315 x = 6315 10, 395 x =103.95
7,449 x = 7449 8, 688 x = 86.88
1,78 x =178 8,275 x =82.75
10, 167 x = 10167 2,107 x =2107
2,732 % =273.2 6, 483 x = 648.3
2,6 x = 2600 4,444 x = 4444
9,812 x = 9812 1,08 x = 1080
2,093 x = 2093 6, 543 x = 654.3
7,399 x =73.99 10, 401 x =1040.1
6, 869 x = 686.9 3,299 x = 3299
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%E % Multiplique por poténcias de dez (ntimero ausente)
Nome: Encontro: Data: Pontuacao:
6,315 x 1000 = 6315 10, 395 x 10 = 103.95

7,449 x 1000 = 7449 8, 688 x 10 = 86.88

1,78 x 100 = 178 8,275 x 10 = 82.75

10, 167 x 1000 = 10167 2,107 x 1000 = 2107

2,732 % 100 = 273.2 6,483 x 100 = 648.3

2,6 % 1000 = 2600 4, 444 x 1000 = 4444

9,812 x 1000 = 9812 1,08 x 1000 = 1080

2,093 x 1000 = 2093 6,543 x 100 = 654.3

7,399 x 10 = 73.99 10, 401 x 100 = 1040.1

6,869 x 100 = 686.9 3,299 x 1000 = 3299
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